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Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340165201. 1

686340165202. 2

686340165203. 3
686340165204. 4

Question Number : 2 Question Id : 68634041829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340165205. 1
686340165206. 2
686340165207. 3
686340165208. 4



Question Number : 3 Question Id : 68634041830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401652009. 1
686340165210. 2

686340165211. 3
686340165212. 4

Question Number : 4 Question Id : 68634041831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340165213. 1
686340165214. 2

686340165215. 3
686340165216. 4

Question Number : 5 Question Id : 68634041832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340165217. 1
686340165218. 2
686340165219. 3
686340165220. 4

Question Id : 68634041827 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340165201. 1
686340165202. 2
686340165203. 3
686340165204. 4

Question Number : 2 Question Id : 68634041829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340165205. 1
686340165206. 2
686340165207. 3
686340165208. 4

Question Number : 3 Question Id : 68634041830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340165209. 1
686340165210. 2
686340165211. 3
686340165212. 4

Question Number : 4 Question Id : 68634041831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340165213. 1
686340165214. 2
686340165215. 3



686340165216. 4

Question Number : 5 Question Id : 68634041832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340165217. 1
686340165218. 2
686340165219. 3
686340165220. 4

Question Id : 68634041827 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634041828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb

2

. mute

3. muffled

4, silent



Options :

686340165201. 1
686340165202. 2
686340165203. 3
686340165204. 4

Question Number : 2 Question Id : 68634041829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The acceptance of colour movies was a little slow compared to the

1. simileys
2. selfies
3. besties
4. talkies

Options :

686340165205. 1

686340165206. 2

686340165207. 3
686340165208. 4

Question Number : 3 Question Id : 68634041830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing

4. filming/developing

Options :

686340165209. 1
686340165210. 2
686340165211. 3
686340165212. 4

Question Number : 4 Question Id : 68634041831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340165213. 1
686340165214. 2
686340165215. 3
686340165216. 4

Question Number : 5 Question Id : 68634041832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340165217. 1
686340165218. 2
686340165219. 3
686340165220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401374
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634041833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340165221. 1
686340165222. 2
686340165223. 3
686340165224. 4

Question Number : 6 Question Id : 68634041833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1.A.B.C.D
2D B A
3.B.D.A.C
4.C.A.D.B

Options :

686340165221. 1
686340165222. 2
686340165223. 3
686340165224. 4

Question Number : 6 Question Id : 68634041833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340165221. 1
686340165222. 2
686340165223. 3
686340165224. 4

Question Number : 7 Question Id : 68634041834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

—

. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340165225. 1
686340165226. 2
686340165227. 3
686340165228. 4

Question Number : 7 Question Id : 68634041834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340165225. 1
686340165226. 2
686340165227. 3
686340165228. 4

Question Number : 7 Question Id : 68634041834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

2. Calligraphy

LIPS ]

. Cartography

e

. Topography

Options :

686340165225. 1
686340165226. 2
686340165227. 3
686340165228. 4

Question Number : 8 Question Id : 68634041835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340165229. 1
686340165230. 2



686340165231. 3
686340165232. 4

Question Number : 8 Question Id : 68634041835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340165229. 1
686340165230. 2
686340165231. 3
686340165232. 4

Question Number : 8 Question Id : 68634041835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious

Options :

686340165229. 1
686340165230. 2
686340165231. 3
686340165232. 4

Question Number : 9 Question Id : 68634041836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340165233. 1

686340165234. 2

686340165235. 3
686340165236. 4

Question Number : 9 Question Id : 68634041836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside

4. with. on

Options :

686340165233. 1
686340165234. 2
686340165235. 3
686340165236. 4

Question Number : 9 Question Id : 68634041836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during. beside
4, with. on

Options :

686340165233. 1
686340165234. 2
686340165235. 3
686340165236. 4

Question Number : 10 Question Id : 68634041837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Tyvpe of pronoun
A |what I freflexive
B. jmyself II. |relative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-IT. B-I. C-IV. D-III
2. A-I B-III, C-II, D-IV
3. A-IIL, B-1. C-IV. D-TI
4, A-IV, B-II, C-I, D-III

Options :

686340165237. 1

686340165238. 2

686340165239. 3
686340165240. 4

Question Number : 10 Question Id : 68634041837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340165237. 1
686340165238. 2
686340165239. 3
686340165240. 4

Question Number : 10 Question Id : 68634041837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340165237. 1
686340165238. 2
686340165239. 3
686340165240. 4



Question Number : 11 Question Id : 68634041838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340165241. 1
686340165242 2
686340165243. 3
686340165244. 4

Question Number : 11 Question Id : 68634041838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340165241. 1
686340165242. 2
686340165243. 3
686340165244. 4

Question Number : 11 Question Id : 68634041838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16



Options :

686340165241. 1
686340165242. 2
686340165243. 3
686340165244. 4

Question Number : 12 Question Id : 68634041839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340165245. 1
686340165246. 2
686340165247. 3
686340165248. 4

Question Number : 12 Question Id : 68634041839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340165245. 1
686340165246. 2
686340165247. 3
686340165248. 4

Question Number : 12 Question Id : 68634041839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
e W W S WY

1.0.18

[ )
=

4.-2.6

Options :

686340165245. 1
686340165246. 2
686340165247. 3
686340165248. 4

Question Number : 13 Question Id : 68634041840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| B

. 10:9
3. 114:113

4. 196:187

Options :

686340165249. 1
686340165250. 2
686340165251. 3
686340165252. 4

Question Number : 13 Question Id : 68634041840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| ]

. 10:9

3. 114:113

4. 196:187



Options :

686340165249. 1
686340165250. 2
686340165251. 3
686340165252. 4

Question Number : 13 Question Id : 68634041840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11

| )

. 10:9
3. 114:113
4, 196:187

Options :

686340165249. 1
686340165250. 2
686340165251. 3
686340165252. 4

Question Number : 14 Question Id : 68634041841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1. 25,780

| B

.2 7,805

4. % 8,750

Options :

686340165253. 1
686340165254. 2
686340165255. 3
686340165256. 4

Question Number : 14 Question Id : 68634041841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.2 5,780

2. 37,805

Options :

686340165253. 1
686340165254. 2
686340165255. 3
686340165256. 4

Question Number : 14 Question Id : 68634041841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.7 5,780
2.2 7.805
3.2 7.850
4. % 8,750
Options :
686340165253. 1
686340165254. 2

686340165255. 3
686340165256. 4

Question Number : 15 Question Id : 68634041842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average age of three boys i1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years

4. 28 years



Options :

686340165257. 1
686340165258. 2
686340165259. 3
686340165260. 4

Question Number : 15 Question Id : 68634041842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340165257. 1
686340165258. 2
686340165259. 3
686340165260. 4

Question Number : 15 Question Id : 68634041842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340165257. 1
686340165258. 2
686340165259. 3
686340165260. 4

Question Number : 16 Question Id : 68634041843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows
Options :
686340165261. 1
686340165262. 2

686340165263. 3
686340165264. 4

Question Number : 16 Question Id : 68634041843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340165261. 1
686340165262. 2
686340165263. 3
686340165264. 4



Question Number : 16 Question Id : 68634041843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.
Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and IT follows

4, Either I or II follows

Options :

686340165261. 1
686340165262. 2
686340165263. 3
686340165264. 4

Question Number : 17 Question Id : 68634041844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340165265. 1
686340165266. 2
686340165267. 3
686340165268. 4

Question Number : 17 Question Id : 68634041844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340165265. 1
686340165266. 2
686340165267. 3
686340165268. 4

Question Number : 17 Question Id : 68634041844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340165265. 1
686340165266. 2
686340165267. 3
686340165268. 4

Question Number : 18 Question Id : 68634041845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340165269. 1
686340165270. 2
686340165271. 3
686340165272. 4

Question Number : 18 Question Id : 68634041845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340165269. 1
686340165270. 2
686340165271. 3
686340165272. 4

Question Number : 18 Question Id : 68634041845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

104
3. 89
4.54

Options :

686340165269. 1
686340165270. 2
686340165271. 3
686340165272. 4

Question Number : 19 Question Id : 68634041846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340165273. 1
686340165274. 2
686340165275. 3
686340165276. 4

Question Number : 19 Question Id : 68634041846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA

LEDWMPSNV
3.3GWMt2 UV
L ECWMY2ZUY

Options :

686340165273. 1
686340165274. 2
686340165275. 3
686340165276. 4

Question Number : 19 Question Id : 68634041846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340165273. 1
686340165274. 2
686340165275. 3
686340165276. 4

Question Number : 20 Question Id : 68634041847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340165277. 1
686340165278. 2
686340165279. 3
686340165280. 4

Question Number : 20 Question Id : 68634041847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340165277. 1
686340165278. 2
686340165279. 3
686340165280. 4

Question Number : 20 Question Id : 68634041847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6" November, 1983, which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4. Friday
Options :
686340165277. 1
686340165278. 2

686340165279. 3
686340165280. 4

Question Number : 21 Question Id : 68634041848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340165281. 1
686340165282. 2
686340165283. 3
686340165284. 4

Question Number : 21 Question Id : 68634041848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4, INSAT

Options :

686340165281. 1
686340165282. 2
686340165283. 3
686340165284. 4

Question Number : 21 Question Id : 68634041848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4. INSAT

Options :

686340165281. 1
686340165282. 2
686340165283. 3
686340165284. 4

Question Number : 22 Question Id : 68634041849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340165285. 1
686340165286. 2
686340165287. 3
686340165288. 4

Question Number : 22 Question Id : 68634041849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |Indian Aluminum Company I [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. A-IIT, B-IV, C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340165285. 1
686340165286. 2
686340165287. 3
686340165288. 4



Question Number : 22 Question Id : 68634041849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |[Indian Aluminum Company II1. [KORAPUT
D. [NALCO IV. [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-I1
2. AIL B-IV, C-I, D-1IT
3. AL BIV.CI DI
4. A-II B-1, C-IV, D-1I1

Options :

686340165285. 1

686340165286. 2

686340165287. 3
686340165288. 4

Question Number : 23 Question Id : 68634041850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340165289. 1
686340165290. 2
686340165291. 3
686340165292. 4

Question Number : 23 Question Id : 68634041850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340165289. 1
686340165290. 2
686340165291. 3
686340165292. 4

Question Number : 23 Question Id : 68634041850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340165289. 1
686340165290. 2
686340165291. 3
686340165292. 4

Question Number : 24 Question Id : 68634041851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340165293. 1
686340165294. 2
686340165295. 3
686340165296. 4

Question Number : 24 Question Id : 68634041851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. INM Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-TIL, B-IV, C-1I. D-I
2 AN BIV.CI.DII
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DI

Options :

686340165293. 1

686340165294. 2

686340165295. 3
686340165296. 4



Question Number : 24 Question Id : 68634041851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. |Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. ATl BIV. C-II. DI

| ]

AL B-IV, C-1, D-II

5]

CA-IV, BT, C-1, D-IT
4. A-II B-IV, C-1, D-111

Options :

686340165293. 1
686340165294. 2
686340165295. 3
686340165296. 4

Question Number : 25 Question Id : 68634041852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340165297. 1

686340165298. 2

686340165299. 3
686340165300. 4

Question Number : 25 Question Id : 68634041852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre
Options :
686340165297. 1
686340165298. 2

686340165299. 3
686340165300. 4

Question Number : 25 Question Id : 68634041852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as
1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre
Options :
686340165297. 1
686340165298. 2

686340165299. 3
686340165300. 4

Part B: Jyotish Falit

Section Id : 686340824
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401375
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634041853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeATg-aRY SpPIals dfe -

1. Jd¥ddH

-3

- qdaH,

 iETan

[

L]

=S

. SH&UFTH

Options :

686340165301. 1
686340165302. 2
686340165303. 3
686340165304. 4

Question Number : 26 Question Id : 68634041853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR SPPIAlS R dfe -

1. 3d¥-dH

14

qd-aq

gigay

| )

[#5]

=

 GI&UHTH

Options :

686340165301. 1
686340165302. 2
686340165303. 3
686340165304. 4

Question Number : 26 Question Id : 68634041853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SPPIAlS R dfe -

1. J<d-1dH

3

qdaq

gigTTay

| )

[FN]

=

 GI&UHTH

Options :

686340165301. 1
686340165302. 2
686340165303. 3
686340165304. 4

Question Number : 27 Question Id : 68634041854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS T -

1. F%udd:
2. TTH9da:
3. YA
4, §HIA:
Options :
686340165305. 1
686340165306. 2

686340165307. 3
686340165308. 4

Question Number : 27 Question Id : 68634041854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HS IS -
1. 9.9 E{FH:
3. YA

| )



Options :

686340165305. 1
686340165306. 2
686340165307. 3
686340165308. 4

Question Number : 27 Question Id : 68634041854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HSHRS T -
1. F5YdcE:
2. TTH9da:
3. YhYAa:
4. YT

Options :

686340165305. 1
686340165306. 2
686340165307. 3
686340165308. 4

Question Number : 28 Question Id : 68634041855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHT: PRPIST -
1. 30g:
2. T3
3. g
4 T

Options :

686340165309. 1
686340165310. 2
686340165311. 3
686340165312. 4

Question Number : 28 Question Id : 68634041855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTHT: PROISTE -
1. g
2. %
3.
4. 95
Options :
686340165309. 1
686340165310. 2

686340165311. 3
686340165312. 4

Question Number : 28 Question Id : 68634041855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIHT: PRPIST -
1. g
2. 71%:
3. g
4. T
Options :
686340165309. 1
686340165310. 2

686340165311. 3
686340165312. 4

Question Number : 29 Question Id : 68634041856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STeREIS R -
1. SpayTag
2. SR
3. revEygday
1. Tawfdavud=g

Options :



686340165313. 1
686340165314. 2
686340165315. 3
686340165316. 4

Question Number : 29 Question Id : 68634041856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS -
1. SpayId=
2. TRy

b

i [ [ [

4. 1[dRAIddy9d-dH

B

Options :

686340165313. 1
686340165314. 2
686340165315. 3
686340165316. 4

Question Number : 29 Question Id : 68634041856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARSI -

%

i S [a L

4. 1[dRAIddy9d-dH

B

Options :

686340165313. 1
686340165314. 2
686340165315. 3
686340165316. 4

Question Number : 30 Question Id : 68634041857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YTGTT: BRBISTET -
1. HI:
2. d%:
3. 0g:
4. [
Options :
686340165317. 1
686340165318. 2

686340165319. 3
686340165320. 4

Question Number : 30 Question Id : 68634041857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U BREDISHET -
1. afi:
2. T%
3. 38
4. b
Options :
686340165317. 1
686340165318. 2

686340165319. 3
686340165320. 4

Question Number : 30 Question Id : 68634041857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR BRI -
1. HiH:

| )

g
4. P



Options :

686340165317. 1
686340165318. 2
686340165319. 3
686340165320. 4

Question Number : 31 Question Id : 68634041858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 Y Faraarsi& 2
1. THR:
HgoR:
ReHIGAEE
4. YCHIDR:

-

| )

[#5]

Options :

686340165321. 1
686340165322. 2
686340165323. 3
686340165324. 4

Question Number : 31 Question Id : 68634041858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 YH: FaramrsiE 2
1. THR:
igoR:
 JATPR:
4. YCHIDR:

B

[ ]

L]

Options :

686340165321. 1
686340165322. 2
686340165323. 3
686340165324. 4

Question Number : 31 Question Id : 68634041858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 Y Faraarsi& 2
1. FNBR:

¥R

 TIPR:

4, GCHIUMBR:

-

| )

L

Options :

686340165321. 1
686340165322. 2
686340165323. 3
686340165324. 4

Question Number : 32 Question Id : 68634041859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YAHTT PRSUBISR -
1. %
2. 3G
3. T
4. 5p:
Options :
686340165325. 1
686340165326. 2

686340165327. 3
686340165328. 4

Question Number : 32 Question Id : 68634041859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YTHIGE PROTBISIT -
1. %
Alg:

[ )



Options :

686340165325. 1
686340165326. 2
686340165327. 3
686340165328. 4

Question Number : 32 Question Id : 68634041859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YTHITH PRETBISTE -
1 1]%:
2. 30g:
3. 9%

4.

Options :

686340165325. 1
686340165326. 2
686340165327. 3
686340165328. 4

Question Number : 33 Question Id : 68634041860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BId TP i 2
1. dtd
2.3
3. 9e
4.-d
Options :
686340165329. 1
686340165330. 2

686340165331. 3
686340165332. 4

Question Number : 33 Question Id : 68634041860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BId TP i 2

3.9¢
4.-d

Options :

686340165329. 1
686340165330. 2
686340165331. 3
686340165332. 4

Question Number : 33 Question Id : 68634041860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BId TP i 2
1.3
2. 381
3.9
4.1d
Options :
686340165329. 1
686340165330. 2

686340165331. 3
686340165332. 4

Question Number : 34 Question Id : 68634041861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR g J8Iq e
1 : g -

Options :



686340165333. 1
686340165334. 2
686340165335. 3
686340165336. 4

Question Number : 34 Question Id : 68634041861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR H T8 HEEd
1 x g -

Options :

686340165333. 1
686340165334. 2
686340165335. 3
686340165336. 4

Question Number : 34 Question Id : 68634041861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR S T8 HHEd 2
1. T

Options :

686340165333. 1
686340165334. 2
686340165335. 3
686340165336. 4

Question Number : 35 Question Id : 68634041862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BRI A Bfd U 9 2

1. I
2 AT
3.9¢
4. T

Options :

686340165337. 1

686340165338. 2

686340165339. 3
686340165340. 4

Question Number : 35 Question Id : 68634041862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BRIEH= Bid Hal: Fiw 2
1. dcdI¥:
2.4
3. 9¢
4. 97
Options :
686340165337. 1
686340165338. 2

686340165339. 3
686340165340. 4

Question Number : 35 Question Id : 68634041862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BRI Pid HaT: bl 2
1. ded:
2.4
3.9
4.9

Options :



686340165337. 1
686340165338. 2
686340165339. 3
686340165340. 4

Question Number : 36 Question Id : 68634041863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i

RO FRRERIE -

1.3

4.12

Options :

686340165341. 1
686340165342. 2
686340165343. 3
686340165344. 4

Question Number : 36 Question Id : 68634041863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ ]
L=

4,12

Options :

686340165341. 1
686340165342. 2
686340165343. 3
686340165344. 4

Question Number : 36 Question Id : 68634041863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| ]
[=

4.12

Options :

686340165341. 1
686340165342. 2
686340165343. 3
686340165344. 4

Question Number : 37 Question Id : 68634041864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

A FFHUET: fb=ad 2
1. SEBIUT:
3. TaH:
4, FE=riEr:
Options :
686340165345. 1
686340165346. 2

686340165347. 3
686340165348. 4

-2

Question Number : 37 Question Id : 68634041864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A TIHUT: fh=ad 2
1. SEPIL:
2.8
3. TAH:
4. T

Options :
686340165345. 1



686340165346. 2
686340165347. 3
686340165348. 4

Question Number : 37 Question Id : 68634041864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FIIUT: f=d 2
1. SEPIL:
2. BRI
3. GH:
4, FE=riEr:

Options :

686340165345. 1
686340165346. 2
686340165347. 3
686340165348. 4

Question Number : 38 Question Id : 68634041865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'3 gfct e et -
1. fe:
2. H2d:
3.0RdT
4. aS -
Options :
686340165349. 1
686340165350. 2

686340165351. 3
686340165352. 4

Question Number : 38 Question Id : 68634041865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'3 gid ey T -
1. e
2. 37%a:
3. %dl
4. fasTen:
Options :
686340165349. 1
686340165350. 2

686340165351. 3
686340165352. 4

Question Number : 38 Question Id : 68634041865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
37 SiA aefe ST -
1. {¥e:

HAd:

| B

3.2d7
4. aS -

Options :

686340165349. 1
686340165350. 2
686340165351. 3
686340165352. 4

Question Number : 39 Question Id : 68634041866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G HAPNRIET -

1.3

4.12

Options :
686340165353. 1



686340165354. 2
686340165355. 3
686340165356. 4

Question Number : 39 Question Id : 68634041866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

e IR IRARIET -

123

| ]
o

4,12

Options :

686340165353. 1
686340165354. 2
686340165355. 3
686340165356. 4

Question Number : 39 Question Id : 68634041866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G AP UNLRIT -

1.3

[ ]
EEY

4.12

Options :

686340165353. 1
686340165354. 2
686340165355. 3
686340165356. 4

Question Number : 40 Question Id : 68634041867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gIRTaTu faamdid -
1. e

| )

HA:
I

4. T;

Options :

686340165357. 1
686340165358. 2
686340165359. 3
686340165360. 4

L

Question Number : 40 Question Id : 68634041867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gRIaIToT fa=mid -

1.

[ ]

HA:
g
4. T

Options :

686340165357. 1
686340165358. 2
686340165359. 3
686340165360. 4

L]

Question Number : 40 Question Id : 68634041867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gIRTaT fa=mid -
1. [T

:



Options :

686340165357. 1
686340165358. 2
686340165359. 3
686340165360. 4

Question Number : 41 Question Id : 68634041868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e TUTTsc T -
1. GgH=gHY]:
2. YSTHYT:
3. faglazmr:
4, FQUIHY:

Options :

686340165361. 1
686340165362. 2
686340165363. 3
686340165364. 4

Question Number : 41 Question Id : 68634041868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e TUTTsc T -
1. Gag=aHal:
2. YSTHYT:
3. fegieazmr:
4, FQUIHY:

Options :

686340165361. 1
686340165362. 2
686340165363. 3
686340165364. 4

Question Number : 41 Question Id : 68634041868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

686340165361. 1
686340165362. 2
686340165363. 3
686340165364. 4

Question Number : 42 Question Id : 68634041869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR g Xa1 adld 2
1. g
 SifE:
HRG™
4. RIBTHRRH

Options :

686340165365. 1
686340165366. 2
686340165367. 3
686340165368. 4

| )

LFN]

Question Number : 42 Question Id : 68634041869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIATRE ¥ =1 add 2
1. Holrad
ST
. PaH

[ ]

L]

Options :



686340165365. 1
686340165366. 2
686340165367. 3
686340165368. 4

Question Number : 42 Question Id : 68634041869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR g Xa1 adld 2
1. g
 SifE:
HRG™
4. RIBTHRRH

Options :

686340165365. 1
686340165366. 2
686340165367. 3
686340165368. 4

| )

LFN]

Question Number : 43 Question Id : 68634041870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SISUTHRY -

§

Options :

686340165369. 1
686340165370. 2
686340165371. 3
686340165372. 4

Question Number : 43 Question Id : 68634041870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. AT

Options :

686340165369. 1
686340165370. 2
686340165371. 3
686340165372. 4

Question Number : 43 Question Id : 68634041870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S &UITETHRAT -
1. YIO-THYI

2. HIG-THP]

N

3. GHADDIq
4, IG-IGETT:

Options :

686340165369. 1
686340165370. 2
686340165371. 3
686340165372. 4

Question Number : 44 Question Id : 68634041871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AN GDHRN: Yai-d -

1. 10

| ]

-1

4,13

Options :



686340165373. 1
686340165374. 2
686340165375. 3
686340165376. 4

Question Number : 44 Question Id : 68634041871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I CHIN: Yal -
1. 10
w0
313
4.13
Options :
686340165373. 1
686340165374, 2

686340165375. 3
686340165376. 4

Question Number : 44 Question Id : 68634041871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT GDRT: Yaf- -

1. 10

| )

.
3. 12

4,13

Options :

686340165373. 1
686340165374. 2
686340165375. 3
686340165376. 4

Question Number : 45 Question Id : 68634041872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

686340165377. 1
686340165378. 2
686340165379. 3
686340165380. 4

Question Number : 45 Question Id : 68634041872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT Hald -
1. HFHHIdHY

2. FgdyEas

3. "dHHIdY

4, qdrauTaE

Options :

686340165377. 1
686340165378. 2
686340165379. 3
686340165380. 4

Question Number : 45 Question Id : 68634041872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHEHHIIE

RGO Ry

3. "dHHIdY

 qdguEe™

[y

[ ]

e



Options :

686340165377. 1
686340165378. 2
686340165379. 3
686340165380. 4

Question Number : 46 Question Id : 68634041873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FERIRYTE: Galid -
1. SR[HHIH
2. YHHIH
3. HEHM OH

4' 1\. .

Options :

686340165381. 1
686340165382. 2
686340165383. 3
686340165384. 4

Question Number : 46 Question Id : 68634041873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. SYHHH
2. YHHAH
3. HEHBOH
4' 1\. S
Options :
686340165381. 1
686340165382. 2

686340165383. 3
686340165384. 4

Question Number : 46 Question Id : 68634041873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. YHBAH
2. YHHAH
3. HEHBOH
4. HHdH
Options :
686340165381. 1
686340165382. 2

686340165383. 3
686340165384. 4

Question Number : 47 Question Id : 68634041874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YP I S1-uT i -

1. 9t

| )

. G

. YISY:
4, fa=ifo:

Options :

686340165385. 1
686340165386. 2
686340165387. 3
686340165388. 4

L

Question Number : 47 Question Id : 68634041874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y SII-aNI0] Hi -

1. d4d:

| ]

el
3 E[-‘ CEIE
4. aﬁf?[:

Options :



686340165385. 1
686340165386. 2
686340165387. 3
686340165388. 4

Question Number : 47 Question Id : 68634041874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y SII-GNIU] Hi -

1. d4d:

| ]

.

. HISE:
4. fawrfa:

Options :

686340165385. 1
686340165386. 2
686340165387. 3
686340165388. 4

[#%]

Question Number : 48 Question Id : 68634041875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e T Tels -
1. 1im:

2. X
3§
495

Options :

686340165389. 1
686340165390. 2
686340165391. 3
686340165392. 4

Question Number : 48 Question Id : 68634041875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frdas @ife: ueista -
1. Wi

2. Y
3. q:
4T

Options :

686340165389. 1
686340165390. 2
686340165391. 3
686340165392. 4

Question Number : 48 Question Id : 68634041875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N rdag wWifa=: usisi -

1. HIT:
2. Y[

3. G
1T

Options :

686340165389. 1
686340165390. 2
686340165391. 3
686340165392. 4

Question Number : 49 Question Id : 68634041876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Biel g™ ATH Hafd -
1. 94
2. T
3. 1;
4.qY:

Options :



686340165393. 1
686340165394. 2
686340165395. 3
686340165396. 4

Question Number : 49 Question Id : 68634041876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ool SO ATH Hald -
1. 94
2. T
3. H:
4. q4:

Options :

686340165393. 1
686340165394. 2
686340165395. 3
686340165396. 4

Question Number : 49 Question Id : 68634041876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ool SO ATH Hald -
1. 94

Bt

3. H:

4. gt

[

Options :

686340165393. 1
686340165394. 2
686340165395. 3
686340165396. 4

Question Number : 50 Question Id : 68634041877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT G4 STl -

1. gRT
2. el
o
4. 77T

Options :

686340165397. 1

686340165398. 2

686340165399. 3
686340165400. 4

Question Number : 50 Question Id : 68634041877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR G RIS -
1. 9RT
2. eaTait
3. HgIed
4. 921
Options :
686340165397. 1
686340165398. 2

686340165399. 3
686340165400. 4

Question Number : 50 Question Id : 68634041877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YIgarE: GU GepTi-arHisiE -
1. °9RT
2. edTefl
3. HElel
4. Hl

Options :



686340165397. 1
686340165398. 2
686340165399. 3
686340165400. 4

Question Number : 51 Question Id : 68634041878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ueh [ SShT0l 3R Hafd -

1

n

4. 20

Options :

686340165401. 1
686340165402. 2
686340165403. 3
686340165404. 4

Question Number : 51 Question Id : 68634041878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH T ST SR Ui -

1

L

[ ]
ey
[

4,20

Options :

686340165401. 1
686340165402. 2
686340165403. 3
686340165404. 4

Question Number : 51 Question Id : 68634041878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UH G ST SR Yl -

[y
- ]

| ]
—
¥

4. 20

Options :

686340165401. 1
686340165402. 2
686340165403. 3
686340165404. 4

Question Number : 52 Question Id : 68634041879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YUYTYTETd fd=RY yafd -
1. &7
IRRY

3.
4, Jolaxd™

Options :

686340165405. 1
686340165406. 2
686340165407. 3
686340165408. 4

[ )

Question Number : 52 Question Id : 68634041879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YUHHTET fd=RY yafd -
1 Y1
2. TRR™
3.
4. FETaRd

Options :



686340165405. 1
686340165406. 2
686340165407. 3
686340165408. 4

Question Number : 52 Question Id : 68634041879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YUHHTET fd=RY yafd -
L. ¥4"
2. WRRY

3. 3™
4. glaxd

Options :

686340165405. 1
686340165406. 2
686340165407. 3
686340165408. 4

Question Number : 53 Question Id : 68634041880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Fai: A= -
1.20
2. 10
3.8
4.15
Options :

686340165409. 1
686340165410. 2
686340165411. 3
686340165412. 4

Question Number : 53 Question Id : 68634041880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| )
ey
=

4.1

L]

Options :

686340165409. 1
686340165410. 2
686340165411. 3
686340165412. 4

Question Number : 53 Question Id : 68634041880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1pagT: |i= -
1.20
2. 10
3.8
4.15
Options :

6863401654009. 1
686340165410. 2
686340165411. 3
686340165412. 4

Question Number : 54 Question Id : 68634041881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHTIEG URT: YHf -
1. gy
2. @i
3. GuMigE
4. FTRIEA

Options :
686340165413. 1



686340165414. 2
686340165415. 3
686340165416. 4

Question Number : 54 Question Id : 68634041881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTPTI 6T YA -
1. UfREETgE

2. gaiigE-
3. SO

4. FRIHHEA

Options :

686340165413. 1
686340165414. 2
686340165415. 3
686340165416. 4

Question Number : 54 Question Id : 68634041881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIDTIE TET: Yl -
1. UfREETgE

2. galiige-
3. GlEmomHEE

4. SRS

Options :

686340165413. 1
686340165414. 2
686340165415. 3
686340165416. 4

Question Number : 55 Question Id : 68634041882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR HI0T ETa: Fad M1 Hafd -
1. ARSI
Aol
4. THEIS
Options :
686340165417. 1
686340165418. 2

686340165419. 3
686340165420. 4

| )

L

Question Number : 55 Question Id : 68634041882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR I WTa: Fad IHT Hafd -
1. T[]
DIl
4, THADI
Options :
686340165417. 1
686340165418. 2

686340165419. 3
686340165420. 4

| ]

[#5]

Question Number : 55 Question Id : 68634041882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RGBT WIa: Had U Hafd -
1. 3FHT®IU]
gDl
4, THADI

Options :

| ]

L]



686340165417. 1
686340165418. 2
686340165419. 3
686340165420. 4

Question Number : 56 Question Id : 68634041883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
] AFTG! Yad: -

1. =
IS

SRR
TSl

Options :

686340165421. 1
686340165422. 2
686340165423. 3
686340165424. 4

| )

[#%]

=S

Question Number : 56 Question Id : 68634041883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e AFTG! Yad: -

1. =R
el

TR
TS

Options :

686340165421. 1
686340165422. 2
686340165423. 3
686340165424. 4

| )

L

=

Question Number : 56 Question Id : 68634041883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST AFTRIE! Yad: -

1. =R
el

TR
TS

Options :

686340165421. 1
686340165422. 2
686340165423. 3
686340165424. 4

| )

L

=

Question Number : 57 Question Id : 68634041884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIAFHAER SR Ueawy SUfSRET -
1. IgyHIE:
ey
. UHIERHIG:

[ ]

L]

=Y

HEHYIG:

Options :

686340165425. 1
686340165426. 2
686340165427. 3
686340165428. 4

Question Number : 57 Question Id : 68634041884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIHFHAER SR Wsawy SfUfSiET -

AgyyIa:

fadiguma:

RUCACRIER GE

oy

| )

(5]

4. FHHId:

Options :



686340165425. 1
686340165426. 2
686340165427. 3
686340165428. 4

Question Number : 57 Question Id : 68634041884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

AFHATER TR Yeas SUlsiE -

1. IgyHIE:
fgdigyra:
 THTERIHTS:

[ ]

L]

=Y

HEHYIG:

Options :

686340165425. 1
686340165426. 2
686340165427. 3
686340165428. 4

Question Number : 58 Question Id : 68634041885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARRIRATHIRUT 3174T: i -

1.4

[ ]
[l

4.7

Options :

686340165429. 1
686340165430. 2
686340165431. 3
686340165432. 4

Question Number : 58 Question Id : 68634041885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ARIRIRATTHIROT S{TT: i -

| ]
[=a]

4.7

Options :

686340165429. 1
686340165430. 2
686340165431. 3
686340165432. 4

Question Number : 58 Question Id : 68634041885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR RIREATTERUT 374T: i -

1.4

[ B
[wa}

4T

Options :

686340165429. 1
686340165430. 2
686340165431. 3
686340165432. 4

Question Number : 59 Question Id : 68634041886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR -1&MA0 A R Hafd 2
1. RRFHY

Options :
686340165433. 1



686340165434. 2
686340165435. 3
686340165436. 4

Question Number : 59 Question Id : 68634041886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YaHIB-T&AN HF I Yaf< 2
1. RRReHY

Options :

686340165433. 1
686340165434. 2
686340165435. 3
686340165436. 4

Question Number : 59 Question Id : 68634041886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S[aHD-EHAINU S I Haf< 2
1. RRReHY

Options :

686340165433. 1
686340165434. 2
686340165435. 3
686340165436. 4

Question Number : 60 Question Id : 68634041887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

686340165437. 1
686340165438. 2
686340165439. 3
686340165440. 4

Question Number : 60 Question Id : 68634041887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dHTB AR HTdRgHdl P4l Hafd?

Options :

686340165437. 1
686340165438. 2
686340165439. 3
686340165440. 4

Question Number : 60 Question Id : 68634041887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR IIERT ATl Hal Hafd?



Options :

686340165437. 1
686340165438. 2
686340165439. 3
686340165440. 4

Question Number : 61 Question Id : 68634041888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrodretEsd JE/Rg: S Haf<?

1.9

| B

15
3

4. 18

Options :

686340165441. 1
686340165442 2
686340165443. 3
686340165444. 4

Question Number : 61 Question Id : 68634041888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fAdre s ¥EERvg: Sid Yate

1.9

| )

. 15
3.11

4.18

Options :

686340165441. 1
686340165442. 2
686340165443. 3
686340165444. 4

Question Number : 61 Question Id : 68634041888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Audre s YRR &id Yai-a?

[ ]
—
¥

4. 18

Options :

686340165441. 1
686340165442 2
686340165443. 3
686340165444. 4

Question Number : 62 Question Id : 68634041889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl fUufaugisiE-
1. b
3. 4T

4.9

{ )

Options :

686340165445. 1
686340165446. 2
686340165447. 3
686340165448. 4

Question Number : 62 Question Id : 68634041889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

au=akdl: sifeafaugisia-
1. e
2. Ui
3. 4T
4. g4:

Options :



686340165445. 1
686340165446. 2
686340165447. 3
686340165448. 4

Question Number : 62 Question Id : 68634041889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gaamar feufausisia-

1.
2. 4

3. g
4. 94

Options :

686340165445. 1
686340165446. 2
686340165447. 3
686340165448. 4

Question Number : 63 Question Id : 68634041890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TREAE TSR -
1. b=

£

4. i

Options :

686340165449. 1
686340165450. 2
686340165451. 3
686340165452 4

Question Number : 63 Question Id : 68634041890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i3

4. fyum:

Options :

686340165449. 1
686340165450. 2
686340165451. 3
686340165452. 4

Question Number : 63 Question Id : 68634041890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TREAE TSR -
1. b=

£

4. i

Options :

686340165449. 1
686340165450. 2
686340165451. 3
686340165452. 4

Question Number : 64 Question Id : 68634041891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IERIrHard -

[ ]

$ 34 %

4.

Options :



686340165453. 1
686340165454. 2
686340165455. 3
686340165456. 4

Question Number : 64 Question Id : 68634041891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IERIrHard -
1. OW:

g
B
4. HI:

Options :

686340165453. 1
686340165454 2
686340165455. 3
686340165456. 4

| ]

[#5]

Question Number : 64 Question Id : 68634041891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T5a SRIfaryafd -

1. HE:

g
B
4. HI:

Options :

686340165453. 1
686340165454. 2
686340165455. 3
686340165456. 4

[

L]

Question Number : 65 Question Id : 68634041892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRHUSH] Did HIFDI: Yal 2

113

| B

.16

4. 18

Options :

686340165457. 1
686340165458. 2
686340165459. 3
686340165460. 4

Question Number : 65 Question Id : 68634041892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRPUSTH Did HIFDI: Hal~<l 2

1.11

| ]

.16

4. 18

Options :

686340165457. 1
686340165458. 2
686340165459. 3
686340165460. 4

Question Number : 65 Question Id : 68634041892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRHUSH] Did HIFDI: Yal 2

1. 11

| ]
—
[=

4. 18

Options :
686340165457. 1
686340165458. 2



686340165459. 3
686340165460. 4

Question Number : 66 Question Id : 68634041893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢): DYTEIUKT, THH HUHYTH A KT, TaH 30 T HRUM R K-
HUHYTH A : FREBIIGY: TER TREIR Yadl ADHRD! |

PRUM R : PREUGI: Wi [AANhagES: Hal |
STeasYTgaHIYd 34l guy fadbeay JRITH I T -

1. AUGT R 340 UK, Ud R, A S008I 7] IR Hfd

[ ]

. ATGH R YT JOH], fh R. A 08 T R A SRfd

3. A TS [ R a0
4. A SFIER food R TR

Options :

686340165461. 1
686340165462. 2
686340165463. 3
686340165464. 4

Question Number : 66 Question Id : 68634041893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTEIUKT, TS Y HNHYTH A KT, UdH R T SRUM R K-
HUHYTH A : FREBIUIGY: TEE TREIR Yadl ATDPRD! |
®RUM R : PRGUG: W] f[ARYBaqEDT: Hal-d |
SUdEIDUGIHISA Sl gy [dhedy Tgf=ray St (= a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

3. A 9O e R i

4, A HIHE foo R TIHIE

Options :

686340165461. 1
686340165462 2
686340165463. 3
686340165464. 4

Question Number : 66 Question Id : 68634041893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

3¢): DYTEIUKT, THH HUHYTH A KT, TaH 30 T HRUM R K-
HIHYT A : FRHBIUIAY: TEET IRER Yadl ATDBRS! |

PRUM R : PREUGI: Wi [AANhagES: Hal |
STeasYTgaHIYd 34l guy fadbeay JRITH I T -

1. AUGH R 340 TR, Ud R, A S8 87 IReA] BT

[ ]

. ATGH R YT JOH], fh R. A 08 T R A SRfd

3. A TOHE [ R SIOHRE

A T o< R 9T

e

Options :

686340165461. 1
686340165462. 2
686340165463. 3
686340165464. 4

Question Number : 67 Question Id : 68634041894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTEIUKT, UHY HNHYTH A K, UdH R T HRUM R K-
SHYHYTH A : SUFHIY UoNE FHaT |

BRUM R : SYFHI0 HaodT: HaTg: WA | TaeIq PR a JoF[e HEad |
SUdadH YIS 3¢l Y fddbedy IgRIay ST fd -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[ ]

. AUGH R 34T JIHE, o] R, A S0 9o o] = ifd
. A g o= R SFanid
A AR i R FoHfd

L¥ ]

e

Options :

686340165465. 1
686340165466. 2
686340165467. 3
686340165468. 4

Question Number : 67 Question Id : 68634041894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, UHY HNHYTH A K, UdH R T HRUM R K-
SHYHYTH A : SUFHIY UoNE FHaT |

BRUM R : SAMBI0 HEIoI1AT: YaTe: YA | TaId SRUNG a0 JoF]g FHad |
YD UAGIHISA Sl gy [dhedy Igf=ay St = a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

. A g o= R SFanid

[ ]

L¥ ]

4, A HIHE foo R TIHIE

Options :

686340165465. 1
686340165466. 2
686340165467. 3
686340165468. 4

Question Number : 67 Question Id : 68634041894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTEAHE. THH HHHUTH A K. TTH IR I8 HRUM R HI&-
SHIYBHYFAH A : TRV YeN]g ooy |

BRUMH R : SRIHDI0 &SN HaTe: WAd | AT SRUING 04 YSii]g HHad |
YD UAGIHISA Sl gy [dhedy Igf=ay St = a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

A FAHE fo=q R SFaaid

LFN]

4, A HIHE foo R TIHIE

Options :

686340165465. 1
686340165466. 2
686340165467. 3
686340165468. 4

Question Number : 68 Question Id : 68634041895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, UHY HWHYTH A K, UaH R T SRUM R K-
TS YH A - SETHRT: I UrMergRggfoTRE el deaReg - W |

BRUM R : T TS IREHo0guay fasfa der agdems uitadafd |
YD UIGIHISA Sl gy [dhedy Igf=ray ST (= a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
. A g o= R SFanid

4, A HIHE foo R TIHIE

L¥ ]

Options :

686340165469. 1
686340165470. 2
686340165471. 3
686340165472. 4

Question Number : 68 Question Id : 68634041895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYAGUHIE, UHH HBUTH A T, UaH| aﬂ‘ﬁ' % DRUM R (-
iU A : ST I UeIRygiTREal 49 A 1d |
BRUH R : TR ﬁwﬁgﬁgﬁw%@wuﬁﬂaﬁ |
YD UIEIHISA Sl gy [dhedy Tgf=ray St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
A FAHE fo=q R SFaaid

4, A HIHE foo R TIHIE

LFN]

Options :

686340165469. 1
686340165470. 2
686340165471. 3
686340165472. 4

Question Number : 68 Question Id : 68634041895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, UHY HWHYTH A K, UaH R T SRUM R K-
TS YH A - SETHRT: I UrMergRggfoTRE el deaReg - W |

BRUM R : T TS IREHo0guay fasfa der agdems uitadafd |
YD UIGIHISA Sl gy [dhedy Igf=ray ST (= a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd
. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
. A g o= R SFanid

4, A HIHE foo R TIHIE

[ ]

L¥ ]

Options :

686340165469. 1
686340165470. 2
686340165471. 3
686340165472. 4

Question Number : 69 Question Id : 68634041896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYAGUHIE, THH HHHYUTH A 3. TTH IR a8 HRUM R -
SHTYPUTH A : P2 TR T3 RIS =i afe g wafd |
BRUM R : GHUNTY YHIGGRITd Sld: J1-1, A1, 2dl 9 Hafd |

Syl UEIHISA Sl gy [dhedy Tgf=ray St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
A FAHE fo=q R SFaaid

4, A HIHE foo R TIHIE

LFN]

Options :

686340165473. 1
686340165474. 2
686340165475. 3
686340165476. 4

Question Number : 69 Question Id : 68634041896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, TS Y HNHYTH A KT, UdH R T HRUM R -
ST A - B3 @RI T3 RIS 3 afe g vafd |
®RUM R : 5HUIY WHIGARIT Side: T AL I¥Rdt 9 Hafd |
YD UIGIHISA Sl gy [dhedy gf=ray St (= a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

. A g o= R SFanid

[ ]

L¥ ]

4, A HIHE foo R TIHIE

Options :

686340165473. 1
686340165474. 2
686340165475. 3
686340165476. 4

Question Number : 69 Question Id : 68634041896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYAGUHIE, THH HHHYUTH A 3. TTH IR a8 HRUM R -
SHTYPUTH A : P2 TR T3 RIS =i afe g wafd |
BRUM R : GHUNTY YHIGGRITd Sld: J1-1, A1, 2dl 9 Hafd |

Syl UEIHISA Sl gy [dhedy Tgf=ray St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

A FAHE fo=q R SFaaid

LFN]

4, A HIHE foo R TIHIE

Options :

686340165473. 1
686340165474. 2
686340165475. 3
686340165476. 4

Question Number : 70 Question Id : 68634041897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, UHY HNHYTH A K, UdH R T SRUM R -
HVpYUTH A - FTEIviiy[H: JagEal vad |

BRUM R : STRIUIYE: SHarg-oagr-yraraHaion gywaeiies vafd |
SUdaIPUIGIHISA Sl gy [dhedy =y St (= a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd
. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
. A g o= R SFanid

4, A HIHE foo R TIHIE

[ ]

L¥ ]

Options :

686340165477. 1
686340165478. 2
686340165479. 3
686340165480. 4

Question Number : 70 Question Id : 68634041897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ DYTGUHIE. THH HHYUTH A 3. TTH IR 8 HRUM R -
Sy A : FEIoityfd: gdgEer yaq |

BRUM R : STEIVIYE: SHTaM-HaHE- AR HEu TUBAaIgS! yafd |
YIS UIGIHISA Sl gy [dhedy Y=y St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
A FAHE fo=q R SFaaid

4, A HIHE foo R TIHIE

LFN]

Options :

686340165477. 1
686340165478. 2
686340165479. 3
686340165480. 4

Question Number : 70 Question Id : 68634041897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, UHY HNHYTH A K, UdH R T SRUM R -
HVpYUTH A - FTEIviiy[H: JagEal vad |

BRUM R : STRIUIYE: SHarg-oagr-yraraHaion gywaeiies vafd |
SUdaIPUIGIHISA Sl gy [dhedy =y St (= a -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

. A g o= R SFanid

[ ]

L¥ ]

4, A HIHE foo R TIHIE

Options :

686340165477. 1
686340165478. 2
686340165479. 3
686340165480. 4

Question Number : 71 Question Id : 68634041898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYAGUHIE, THH HHYUTH A 3. TTH IR a8 HRUM R -
HHYAH A - Y& AN ARG | 511 77 AT |

HRUM R : JUT5] YAGR=U0] TR, 3fck: ol A& I |

YD UIGIHISA Sl gy [dhedy Tgf=ray St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

A FAHE fo=q R SFaaid

LFN]

4, A HIHE foo R TIHIE

Options :

686340165481. 1
686340165482. 2
686340165483. 3
686340165484. 4

Question Number : 71 Question Id : 68634041898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: DYTEIHKT, TS Y HWHYTH A T, UdH {0 T8 HRUM R -
HGUTH A - T TS ARG | T-51D] 77 AT |

PRUM R : Yo% TI&R=U0 €0, 3{d: I &0 - |
SUaday-gaad sl gy Py Igfay S Fd -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 G| ARaA]  SHfd
. A g o= R SFanid
A AR f R oA

L¥ ]

e

Options :

686340165481. 1
686340165482. 2
686340165483. 3
686340165484. 4

Question Number : 71 Question Id : 68634041898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTEAHIR. THH HHHUTH A 3. TTH IR I8 HRUM R HI&-
HHYAH A - Y& AN ARG | 511 77 AT |

HRUM R : JUT5] YAGR=U0] TR, 3fck: ol A& I |
SydaIpUGIHISA Sl gy [dhedy Y=y St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd
A FAHE fo=q R SFaaid

4, A HIHE foo R TIHIE

LFN]

Options :

686340165481. 1
686340165482. 2
686340165483. 3
686340165484. 4

Question Number : 72 Question Id : 68634041899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, TS Y HNHYTH A KT, UdH R T SRUM R K-
HIYDHYTH A : HIAHGIHITDRST: elli-gdl: YUT: Haid |
®RUM R : P [RYdE: TTIET: TOHAGHDT: Haf |
SUaday-gaad sl gy Py Igftay S Fd -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 G| ARaA]  SHfd
. A g o= R SFanid
A AR f R oA

L¥ ]

e

Options :

686340165485. 1
686340165486. 2
686340165487. 3
686340165488. 4

Question Number : 72 Question Id : 68634041899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTEAHR. THH HHHUTH A KT, TTH (IR a8 HRUM R HI&-
SHHYTH A : HIAHIGYHIGHRST: dell-adl: YHT: Hafd |

HRUH R : D% (RN UTIHET: UMb e Hafd |

YD UAGIHISA Sl gy [dhedy Tgf=ay St (= a -

1. ATUGH R 44 JIHRKT, Ud R. A SO U] oA Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 98] ARaA]  Sfd

A FAHE fo=q R SFaaid

LFN]

4, A HIHE foo R TIHIE

Options :

686340165485. 1
686340165486. 2
686340165487. 3
686340165488. 4

Question Number : 72 Question Id : 68634041899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEIUKT, TS Y HNHYTH A KT, UdH R T SRUM R K-
HIYDHYTH A : HIAHGIHITDRST: elli-gdl: YUT: Haid |
DRUM R : b5 QU YMIUEE IYBAGESE Hdfd |
SUaday-gaad sl gy Py Igftay S Fd -

1. ATGH R 344 YUK, Ud R. A 30X U] A& Drifd

[ ]

. AUGH R 34T YA, fo=] R, A S0 G| ARaA]  SHfd
3. A 9O e R i
4, A IATE fog R IOHT

Options :

686340165485. 1
686340165486. 2
686340165487. 3
686340165488. 4

Question Number : 73 Question Id : 68634041900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT0T SR ISR -
A TR
B. 9
C. I
D. g
E. Y
3¢l oy fap ey FHI= SR o -
1.B.C.E.D.A
2.A.D,C.E.B
3.B.E.D.A.C
4.A.B,C.D.E
Options :
686340165489. 1
686340165490. 2

686340165491. 3
686340165492. 4

Question Number : 73 Question Id : 68634041900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN SR HIS T -
A TR
B. q4:
C %
D. 3§
E. 4im:
3¢l <y [dp ey FHIERH Iw fd -

1B BT &

| ]

AR EEB
3.B.E.D.A.C
4 A B.C.D.E
Options :
686340165489. 1
686340165490. 2

686340165491. 3
686340165492. 4

Question Number : 73 Question Id : 68634041900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PRUIEEIEZINISE
e
C. I
P
et Y ey i 3o T -

1.B.C.EDA

| ]

L AGD EE B
33B.E.DA.C
4.A.B.C,D.E

Options :

686340165489. 1
686340165490. 2
686340165491. 3
686340165492. 4



Question Number : 74 Question Id : 68634041901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TFARTAGIUN & H: -

A HE:
B. 9if:

C. P
D. §4:

E. %
a1ei Ry ety weiem Sk o -

1.LED C.B A

b2

CABDLCE
3 EAB D E
4 AAD.EC,B

Options :

686340165493. 1
686340165494. 2
686340165495. 3
686340165496. 4

Question Number : 74 Question Id : 68634041901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JIAREIGIUN B H: -

A T
B. 91

C. b
D. §4:
E. 7%
3¢l gy faedy Frii=i S o -
1.E,D,C.B,A
PABDCT
3.E.A.B.D.C

4. A.D.E.C.B

Options :
686340165493. 1



686340165494. 2
686340165495. 3
686340165496. 4

Question Number : 74 Question Id : 68634041901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
USRIV hH: -

A HE:
B. 9If:

C. P
D. §4:

E. %
3150 Y Faedy Wi e e -

1.LED C.B A

(B

CAB R EE
3 EAB D E
4 A.D.E.C.B

Options :

686340165493. 1
686340165494. 2
686340165495. 3
686340165496. 4

Question Number : 75 Question Id : 68634041902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T ds A HAISET -

A. YTgUL:
B. 3NIE:
C. SN
D. 99IRE:
E. O3

1% gy ey wrian o e -

1.LA,B,C,D.,E

[

.B.ADCE
3.E.D.C.B. A,
4 D.AB.EC

Options :

686340165497. 1
686340165498. 2
686340165499. 3
686340165500. 4

Question Number : 75 Question Id : 68634041902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ds A HArSET -

A, YTUT:
B. 3TNIE:
C. Un:
D. 99IG:
E. 93

3160 Y ey Wi S e -

1.LA,B,C,D.,E

[ ]

.B.ADCE
3.E.D.C.B. A,
4 D.AB.E.C

Options :

686340165497. 1
686340165498. 2
686340165499. 3
686340165500. 4



Question Number : 75 Question Id : 68634041902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS ay A HarstE -

A YTaUT:
B. 3{TNTE:
C. Sy
D. J¥IE:
E. 93

31eit ey Frepedny Tl S e -

1. AB.C.D.E

| )

.B.AD.C.E
3.E.D.C.B. A,
4. D.A.B.E.C

Options :

686340165497. 1
686340165498. 2
686340165499. 3
686340165500. 4

Question Number : 76 Question Id : 68634041903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UdHTE 37T B H: -

A fafe:
B. R
C. R
D. dT:
E. 7&50

31%7 7R ety W e e -
1. ABEDC
2.CDEBA
3.3.B.EADC
4 E.A.B.D.C

Options :



686340165501. 1
686340165502. 2
686340165503. 3
686340165504. 4

Question Number : 76 Question Id : 68634041903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG 3T 6 : -

A fafe:
B. OR:
C. R0
D. dT:
E. &=

a1ei Ry ety weiem Sk o -

1.A.B,E. D C

b2

SE ILECB, A
3 B.EADE
4. EABDC

Options :

686340165501. 1
686340165502. 2
686340165503. 3
686340165504. 4

Question Number : 76 Question Id : 68634041903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ul Y 3T HH: -

A e
B. R
C. PR
D. TT:
E. 7&30

3150 ey Fepedry Tl o o -
1.LAB E D C
2.C.,D.E.B. A
3.B,EADC
4. B A B D C

Options :

686340165501. 1
686340165502. 2
686340165503. 3
686340165504. 4

Question Number : 77 Question Id : 68634041904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH I a8 Bl B -

A g
B. dis:
C. Mg
D. aui

E. 8H:

el gy fa ey FHI= IR = d -

1.A.B.D.C.E
2.E.C.A.B.D
3.C.D.B.A.E
4.B.A.C.D.E

Options :

686340165505. 1

686340165506. 2

686340165507. 3
686340165508. 4



Question Number : 77 Question Id : 68634041904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH AT a Bl HH: -

A I
B. die:
C. Mg
D. auf

E. gH:

31eit ey Frepedny Tl S e -

1.LABDCE

| )

B CLAB, D
3.C.D.B.A.E
4. B.A.C.D.E

Options :

686340165505. 1
686340165506. 2
686340165507. 3
686340165508. 4

Question Number : 77 Question Id : 68634041904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHET a8 Bl HH: -

A I
B. ¥it:
C. Mg
D. auf

E. gH:

Sieh Ry Ry el e e -

1.LABDCE

| )

B C.ABD
3.C.D.B.A.E
4 B.A.C.D.E

Options :



686340165505. 1
686340165506. 2
686340165507. 3
686340165508. 4

Question Number : 78 Question Id : 68634041905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEI0N SdThaIS -

A, 9T
B. THR:
C.gar
D. Ta:
E 3%

3157 ey Fepedry Tl I e -
1. EDC. B. A
2ZAB.C.ED
3.3.D.C.B.E. A
4B, C. DA E

Options :

686340165509. 1
686340165510. 2
686340165511. 3
686340165512. 4

Question Number : 78 Question Id : 68634041905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN SHARTHHISTT -
A, 9ISk
B. PHR:
C.gai
D. Hd:
E. %
3¢l <y [dp ey FHIERH Iw fd -

1LEDLC B A

| ]

LA B.C.E.D
3.D,C.B.E.A
4.B.C.D.A.E

Options :

686340165509. 1
686340165510. 2
686340165511. 3
686340165512. 4

Question Number : 78 Question Id : 68634041905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIUN SfaRITehHISRT -
A. d[:
B. PHR:
C. gar
D. Td:
E. 9

3l ey fapedy Ty Io fd -

1.EDXC B A

| ]

LA B.C.E.D
3 DLC.B.EA
4.B.C.D.A.E

Options :

686340165509. 1
686340165510. 2
686340165511. 3
686340165512. 4



Question Number : 79 Question Id : 68634041906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TawTur el Hafd -

AR
B.3
C. 3
D. 3

H.
3157 ey Fepedry Tl I e -
1A B CDE
2ZCAB.ED
3.ED.C.B.A

4. B, CAE,D

Options :

686340165513. 1
686340165514. 2
686340165515. 3
686340165516. 4

Question Number : 79 Question Id : 68634041906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IGRT0TT ShHT Hafd -

As
B.3
C. 3
D. 3

E.Y
31%7 7R ety e e R -
1A, B €. DE
2Z2CABED
3B DB A
4B, C.A.E.D

Options :



686340165513. 1
686340165514. 2
686340165515. 3
686340165516. 4

Question Number : 79 Question Id : 68634041906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TawTur el Hafd -

AR
B.3
C. 3
D. 3

H.
3157 ey Fepedry Tl I e -
1A B CDE
2ZCAB.ED
3.ED.C.B.A
4 B, C.,A.E.D

Options :

686340165513. 1
686340165514. 2
686340165515. 3
686340165516. 4

Question Number : 80 Question Id : 68634041907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -
YT 1 g ISR Ay |
DYTHII : T SIS |

Sy UEIHISA Sl gy [dhedy Igfoay St (= d -

1. HYTH I Ud HYH 11 IHT U

[ ]

. PYTH 1 Ud HYFH 11 IHTH ST
 HYTH I TIHR, foord PU-TH 11 S gufEd

Lag

4. HYH 1 AR, fb-g Y= 11 ggai

Options :

686340165517. 1
686340165518. 2
686340165519. 3
686340165520. 4

Question Number : 80 Question Id : 68634041907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢ HYAGIH] -
YT 1 : g SHISRI Ay |
PYTH I : T FAISRKI Y |
STeSYTEaHI YT 31l Guy AP eay JHRITH I d -

1. HYTH 1 Ud Y 11 IHU JIHE

| ]

. HYT 1 Ud HYTH 11 IHTH T
DY 1 YA, fb=] Y= 11 3HgafEd
 TYTH I STHRT. g HU=H 11 TaH

Lad

s

Options :

686340165517. 1
686340165518. 2
686340165519. 3
686340165520. 4

Question Number : 80 Question Id : 68634041907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -
YT 1 g ISR Ay |
DYTHII : T SIS |

SUYaIYTeaHISd Sl gy fadely fEas ST Hd -

1. HYTH I Ud HYH 11 IHT U

[ ]

. PYTH 1 Ud HYFH 11 IHTH ST
 HYTH I TIHR, foord PU-TH 11 S gufEd

4. HYH 1 AR, fb-g Y= 11 ggai

Lag

Options :

686340165517. 1
686340165518. 2
686340165519. 3
686340165520. 4

Question Number : 81 Question Id : 68634041908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 PYTGIHE-
HYH 1: T R 9 aed: vafdl
FYTH I1: A= Rl Fud g RIFRRG: yafd |
ST eSYTgaHIYT 34l guy fAPheay JRITH It K -

1. HYTH 1 Ud Y 11 IHU JIHE

| ]

 HYTH 1 Ud HYTH 11 HTH AT
DY 1 YA, fb=] Y= 11 3HgafEd
YT I STHRT. g HUH 11 SO

Lad

s

Options :

686340165521. 1
686340165522, 2
686340165523. 3
686340165524. 4

Question Number : 81 Question Id : 68634041908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH-

HYH 1. HHE: [T 9 aeag: vatdl

HYTY I1: Hohx Al Fyd 9 RINRg: yafd

Sy UEIHISA Sl gy [dhedy Igfoay St (= d -

1. HYTH I Ud HYH 11 IHT U

[ ]

. PYTH 1 Ud HYFH 11 IHTH ST
 HYTH I TIHR, foord PU-TH 11 S gufEd

4. HYH 1 AR, fb-g Y= 11 ggai

Lag

Options :

686340165521. 1
686340165522. 2
686340165523. 3
686340165524. 4

Question Number : 81 Question Id : 68634041908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 PYTGIHE-
HYH 1: T R 9 aed: vafdl
FYTH I1: A= Rl Fud g RIFRRG: yafd |
ST eSYTgaHIYT 34l guy fAPheay JRITH It K -

1. HYTH 1 Ud Y 11 IHU JIHE

| ]

 HYTH 1 Ud HYTH 11 HTH AT
DY 1 YA, fb=] Y= 11 3HgafEd
YT I STHRT. g HUH 11 SO

Lad

s

Options :

686340165521. 1
686340165522, 2
686340165523. 3
686340165524. 4

Question Number : 82 Question Id : 68634041909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

HYTH 1 : ST W SHT Yafd |

HYTH 11 - STV Fog@ar Haq |

SUaday-gaaidd sl ey Py Igftay S Fd -

1. TYTH 1 8 HYH 11 IHT FOARKT

[ ]

DY 1 Ud HYFH 11 IHIH SETHRT
. HYT 1 FAURL, foo] PU-TH 11 S0
4, BYFH I ST, b= HU=H 11 GIHfd

L¥ ]

Options :

686340165525. 1
686340165526. 2
686340165527. 3
686340165528. 4

Question Number : 82 Question Id : 68634041909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYTGIH] -

DY 1 : T W U Yald |

HYFH 11 - ST Fag@ar Haq |

YD UIGIHISA Sl gy [dhedy =y ST (= a -

1. FYTH 1 U4 HYH 11 IHT A

[ ]

DY 1 Ud HYFH 11 IHTH SETHRT
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165525. 1
686340165526. 2
686340165527. 3
686340165528. 4

Question Number : 82 Question Id : 68634041909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

HYTH 1 : ST W SHT Yafd |

BT 11 : STRIUN o Hagaer Had |

YD UIGIHISA Sl gy [dhedy =y ST (= a -

1. TYTH 1 8 HYH 11 IHT FOARKT

[ ]

DY 1 Ud HYFH 11 IHTH SETHRT
. HYT 1 FAURL, foo] PU-TH 11 S0

4, DYFH I TG, T~ py=H 11 TaH i

L¥ ]

Options :

686340165525. 1
686340165526. 2
686340165527. 3
686340165528. 4

Question Number : 83 Question Id : 68634041910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTGIH] -

HYTY 1 : FgUUIard GE™ [daRT yald |

DYAH 11 : fgdraHIard o=y faaRl Hafd |

YD UIGIHISA Sl gy [dhedy Igf=ay St (= a -

1. FYTH 1 U4 HYH 11 IHT A

[ ]

DY 1 Ud HUFH 1 SHY U
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165529. 1
686340165530. 2
686340165531. 3
686340165532. 4

Question Number : 83 Question Id : 68634041910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

HYTH 1 - FqYUaTd IEd faart vafd |

DYTH 11 : fdayIard o=y faaR! Hafd |

YD UIGIHISA Sl gy [dhedy Igf=ay St (= a -

1. TYTH 1 8 HYH 11 IHT FOARKT

[ ]

DY 1 Ud HUFH 1 SHY U
. HYT 1 FAURL, foo] PU-TH 11 S0

4, DYFH I TG, T~ py=H 11 TaH i

L¥ ]

Options :

686340165529. 1
686340165530. 2
686340165531. 3
686340165532. 4

Question Number : 83 Question Id : 68634041910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: HYIGIH] -

HYTY 1 : FgUUIard GE™ [daRT yald |

DYAH 11 : fgdraHIard o=y faaRl Hafd |

Syl UAEIHISA Sl gy [dhedy Igf=ray St (= a -

1. FYTH 1 U4 HYH 11 IHT A

[ ]

DY 1 Ud HUFH 1 SHY U
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165529. 1
686340165530. 2
686340165531. 3
686340165532. 4

Question Number : 84 Question Id : 68634041911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

FUTH I : ST T TET-Hi07 3% yafa |

BYTH 11 : B HU-HI0f R i
SUdaIPUIGIHIS Sl gy [dhedy Igf=ray St (= a -

1. TYTH 1 8 HYH 11 IHT FOARKT

[ ]

DY 1 Ud HUFH 1 SHY U
. HYT 1 FAURL, foo] PU-TH 11 S0

4, DYFH I TG, T~ py=H 11 TaH i

L¥ ]

Options :

686340165533. 1
686340165534. 2
686340165535. 3
686340165536. 4

Question Number : 84 Question Id : 68634041911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 DYGYH] -

HYTH 1 : A GIBRISTEI0] 9y Hald|

HYFH 11 : A -0l YR Hald|

YD UIGIHIS Sl gy [dhedy =y ST (= a -

1. FYTH 1 U4 HYH 11 IHT A

[ ]

DY 1 Ud HUFH 1 SHY U
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165533. 1
686340165534. 2
686340165535. 3
686340165536. 4

Question Number : 84 Question Id : 68634041911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

FUTH I : ST T TET-Hi07 3% yafa |

BYTH 11 : B HU-HI0f R i
SUdaIPUIGIHIS Sl gy [dhedy Igf=ray St (= a -

1. TYTH 1 8 HYH 11 IHT FOARKT

[ ]

DY 1 Ud HUFH 1 SHY U
. HYT 1 FAURL, foo] PU-TH 11 S0

4, DYFH I TG, T~ py=H 11 TaH i

L¥ ]

Options :

686340165533. 1
686340165534. 2
686340165535. 3
686340165536. 4

Question Number : 85 Question Id : 68634041912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ HYIGYH] -

PUTH 1 - YU G A & |

BYTH 11 : Agp Hal dfchull Had: |

YD UIGIHISA Sl gy [dhedy Igf=ray St (= a -

1. FYTH 1 U4 HYH 11 IHT A

[ ]

DY 1 Ud HUFH 1 SHY U
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165537. 1
686340165538. 2
686340165539. 3
686340165540. 4

Question Number : 85 Question Id : 68634041912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

PUTH 1 - I Hal ARTE & |

BYUTH 11 - g Hal dfeh Ul Yad: |

YD UIGIHISA Sl gy [dhedy Jgf=ray St =a -

1. TYTH 1 8 HYH 11 IHT FOARKT

[ ]

DY 1 Ud HUFH 1 SHY U
. HYT 1 FAURL, foo] PU-TH 11 S0

4, DYFH I TG, T~ py=H 11 TaH i

L¥ ]

Options :

686340165537. 1
686340165538. 2
686340165539. 3
686340165540. 4

Question Number : 85 Question Id : 68634041912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ HYIGYH] -

PUTH 1 - YU G A & |

BYTH 11 : Agp Hal dfchull Had: |

YD UIGIHISA Sl gy [dhedy Igf=ray St (= a -

1. FYTH 1 U4 HYH 11 IHT A

[ ]

DY 1 Ud HUFH 1 SHY U
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165537. 1
686340165538. 2
686340165539. 3
686340165540. 4

Question Number : 86 Question Id : 68634041913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

HYTH 1 : T LFaPal: 8=l 3id T HUIE: P |
BYTHI1 : T DWNE a8 5id 9: YFAYe: HA |
Suaday-gaad sl gy Py Igftay S Rd -

1. YT 1 Ud HYTH 1 1T IR

[ ]

DY 1 Ud HYFH 1 SHY 3FHR
. HYT 1 FAURL, foo] PU-TH 11 S0
4. YT I SRTARK, fobg HUH 11 YA f

L¥ ]

Options :

686340165541. 1
686340165542. 2
686340165543. 3
686340165544. 4

Question Number : 86 Question Id : 68634041913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTGIH] -

BYTH 1 : I YDl a8i=d gid T UUE: P2 |
BYTH 11 : T UG a8id gid 9: I DA |

Ul UGIHISA Sl gy [dhedy Y=y St (= a -

1. YT 1 Ud HYTH I1 1T JIH

[ ]

DY 1 Ud HUFH 1 SHY U
 HYTH I FIUR, foord U 11 S EufEd

4, DYFH I TG, T~ py=H 11 TaH i

L#N]

Options :

686340165541. 1
686340165542. 2
686340165543. 3
686340165544. 4

Question Number : 86 Question Id : 68634041913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIH -

HYTH 1 : T LFaPal: 8=l 3id T HUIE: P |
BYTHI1 : T DWNE a8 5id 9: YFAYe: HA |
Suaday-gaad sl gy Py Igftay S Rd -

1. YT 1 Ud HYTH 1 1T IR

[ ]

DY 1 Ud HYFH 1 IHY AT
. HYT 1 FAURL, foo] PU-TH 11 S0
4. YT I STHIK, fob] U 11 TIHRET

L¥ ]

Options :

686340165541. 1
686340165542. 2
686340165543. 3
686340165544. 4

Question Number : 87 Question Id : 68634041914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. ST =ERRI g5 TeR: [afwwd gefd |
B. SRNTYYA: AR T T=R: f[dRywd w=sld |
C. GRIYd: Tl =il 954 =R [aRyed yeald |
D. GRS T TTeR F= ek, W&H! aebl a1 Hafd 9 YHBd rafd |
E. SIFIYT: 3. 5. 6. 7. 9. 10, 11 HIAY =Rl fd2iNthel 7 Wi |

3l oy fdp ey FHi=g 9o e -
1. %de¥ B, C, D
2. A A, C, D
3. PAAHC, D.E
4. HAuHD,E. A

Options :

686340165545. 1
686340165546. 2
686340165547. 3
686340165548. 4

Question Number : 87 Question Id : 68634041914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e faeed forgd -
A. SUYAE=REN 5 TR: faRyH g |
B. SRMOG: RN T T=R: [y e ya=sid |
C. GRITYG: FA=TToT =N =58 =R faRyed weerfd |
D. GRITT: &1 TER J=Ia:, TaA! aopl ol Hafd 9 YHDd Srafd |
E. GRIFIYE: 3, 5.6, 7, 9, 10, 11 HIGY T=RUT faRivthe 7 wiad |

3¢l ey fdp ey i g o -
1.$aaHB.C.D
2. PAeH A, C. D
3. ®PdaH C.D.E
4. AU D, E. A

Options :

686340165545. 1
686340165546. 2
686340165547. 3
686340165548. 4

Question Number : 87 Question Id : 68634041914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. ST R T TeR: f[ARyEd g |
B. GRMYY: =R T2 TR fafRyed wasid |
C. SRIId: TRl e 95 =R fafRyed ugan |
D. SR YT =R J=T:, T a1 a1 Hafd I YHS e |
E. SRIFIYT: 3. 5.6, 7. 9. 10, 11 HIGY TI=R0T fa2yth el -1 U |

3¢l gy fdepeuy iy I fd -
1.%aaHB.C,D
2. HATH A, C. D
3. ®daf C, D, E
4. %A D.E. A

Options :

686340165545. 1
686340165546. 2
686340165547. 3



686340165548. 4

Question Number : 88 Question Id : 68634041915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A HIH: 1, 6. 10 J1RY P yald =q die sd: TAT: |
B. §4: 3, 6 AAN: g Hald o dle Hge: TNT: |
C. % 4, 9, 12 RTY YUY Wdld =iq dfe oo 41T |
D. b= 2. 7. 12 MY = Hald 9d dfe Arded: i |
E. X: 7, 10, 11 AT Sfroifderd vafd 9 afe < ai: |
3¢l oy fap ey FHIE SR fod -
1. %de¥ B, C, D
2. Bde C.D.E
3. BdTH AB.D

4. AU D, E. A

Options :

686340165549. 1
686340165550. 2
686340165551. 3
686340165552. 4

Question Number : 88 Question Id : 68634041915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 1T 1. 6. 10 RN P Yald Id dfe s - |

B. §¢: 3. 6 URY: s Hafd I dfe Hs: TIT: |

C. % 4, 9, 12 RTY YUY Wdld =iq dfe oo 41T |

D. b= 2. 7. 12 MY = Hald 9d dfe Arded: i |

E. QI: 7. 10, 11 ATRY Sfruifderd vald e afg 2= anT: |
3¢l oy fap ey FHIE SR fod -

1.$aaHB.C.D

2. Bde C.D.E

3. P AB.D

4. AU D, E. A

Options :

686340165549. 1
686340165550. 2
686340165551. 3
686340165552. 4

Question Number : 88 Question Id : 68634041915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A, 1T 1, 6. 10 RN P 1ald I dfe a9 Ik |
B. §¥: 3. 6 AT B5 Yafd Id dfe e T |
C. 7%+ 4, 9, 12 7Y YUMHR Wafd =q dfe oo TnT: |

D. b= 2. 7. 12 RY $= Y@l 9d dfe Arded: T |
E. : 7. 10, 11 AT Sfroifead vafd 3 dfe 2r=e: I |

3¢l gy fdepeuy iy I fd -
1.%aaHB.C,D
2. HATH C.D.E
3. A AB.D
4. %A D.E. A

Options :

686340165549. 1
686340165550. 2
686340165551. 3



686340165552. 4

Question Number : 89 Question Id : 68634041916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e et R
A. YR RRYT: YUe: dal d1 Rl |
B. WRHTH: YUUGA 9510 B gafd |
C. U= RiNieaRIy & 9l o Rig vwafd |
D. T&] URFAH: UIYgdd dal o [HSdid |

E. URAe USIEaRI: 1q dfs sris: |
Sfell Y fapedy FHIIH IR fq -

1. HAeH AB.C

2. $da B.C.D

3. BAAHC, D.E

4. AU D, E. A

Options :

686340165553. 1
686340165554. 2
686340165555. 3
686340165556. 4

Question Number : 89 Question Id : 68634041916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A LT TR HIE: da1 B Rsafd |

B. UReH: YuUedl dag &1 Rigafd |

C. T DisleaRify o Jef o fg wafa |
D. T&T U=AeR: UTuydd dal i R¥safd |

E. Yol ggieaviiy: wirq dfs srffe: |
Sfell Y fapedy FHIIH IR fq -

1. HAAH AB.C

2. $da B.C.D

3. ®PdaH C.D.E

4. AU D, E. A

Options :

686340165553. 1
686340165554. 2
686340165555. 3
686340165556. 4

Question Number : 89 Question Id : 68634041916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A LT TRy gHIe: qal B Rsafd |
B. WY YUUET 9510 BTy gl |
C. IR QiR o1&y 92 o R vafd |

D. T&T UeR: UT0ad aal B s |
E. YR YRIaRIRT: T1d dfe Srfifg: |

3¢l gy fdepeuy iy I fd -
1. A AB.C
2. HAIH B.C.D
3. ®daf C, D, E
4. %A D.E. A

Options :

686340165553. 1
686340165554. 2
686340165555. 3



686340165556. 4

Question Number : 90 Question Id : 68634041917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A OfE 5508 Udid YT @Y: gRd yafd afg Side: alg: yafd |
B. Afd 550 YD W 3@ Hald dfé siide: Wyiad: Hi: vafd |
C. UATERI: 51 9¥: 2iis gyifaar: 7 yafd |

D. TR O §fgol-T: Seurgs:. g:fadn: = Haf |
E. YA SIde: S0agidd: g Hafd |

3¢l ey fdp ey i g o -
1. HdeH B C D
2. DA ABD
3. PATHCDE
4. BAAHDEA

Options :

686340165557. 1
686340165558. 2
686340165559. 3
686340165560. 4

Question Number : 90 Question Id : 68634041917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. O 558 Udd YT X@fy: gRd Yafd aft oae: afvg: vafa |
B. Afd 550 YD W 3@ Hald dfé siide: Wyiad: Hi: vafd |
C. UATeRN: S UX: Rig uHIiddr: 7 Hal-d |

D. TATERM: S §fGoi-rE: : S & = vaf= |
E. TATRS: Sdd: ogaqdTid®: HAigedl Hafd |

3¢l ey fdp ey i g o -
1. $AaHB CD
2. DA ABD
3. PAIHCDE
4. BAAHDEA

Options :

686340165557. 1
686340165558. 2
686340165559. 3
686340165560. 4

Question Number : 90 Question Id : 68634041917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. T T Uddr YT X@T: gikd Yafd afg oirae: afvs: vafd |
B. Ifc; 530 TASH A T @1 Yafd afe wiae: wyad: Hie: vafd |
C. TATeS: & UR: i uyifaar: 9 vafg |

D. UdTESMT: S1: TSI Sfeargy:, g:Raarn: 7 yaf-T |
E. UdIEY: Side: S0adied: T-igwr Hafd |

31¢ll gy fas ey wHI= IR o d -
1.HAAHBCD
2. HATHABD
3. PAAICDE
4. PATHDEA
Options :
686340165557. 1

686340165558. 2
686340165559. 3



686340165560. 4

Question Number : 91 Question Id : 68634041918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S Rt R
A. ORI GRHYTEI TaHERHRAT: Jra=: TR a1 |
B. T TGHHGI AdHGHEA!: a4 Aol garid |
C. YUid ATHEGRIERRN: Tra: AN = galfd |

D. THAGHIRIPUS el T 2T et AN gaifd |
E. HAPRBTG Al T2 7 45: AT |

3¢l ey fdp ey i g o -
1. %de¥ B, C, D
2. I C. D, E
3. AU D.E. A
4. HaaHA,B.D

Options :

686340165561. 1
686340165562. 2
686340165563. 3
686340165564. 4

Question Number : 91 Question Id : 68634041918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A TR SRIHTAT TaHGHTAN: Jay: SN Gl |
B. WYY AGHHTAN aHCRHRN: FEe: IS gafd |
C. YUid ATHEGRIERRN: Tra: AN = galfd |

D. THAGHIRIPUS ! TR0 et ATaH gaifd |

E. MHAPROISAHAN: Fr: 7 4T: JodlT: |

3¢l ey fdp ey i g o -
1. %deH B.C. D
2. I C. D, E
3. PdHD.E.A
4. HaaHA,B.D

Options :

686340165561. 1
686340165562. 2
686340165563. 3
686340165564. 4

Question Number : 91 Question Id : 68634041918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. T TRAHTAT FaAGRHRAT: FI: ST S |
B. T aHHIGI aHSRHLET: Jra: SN a1 |
C. goid TaHeRERA: Jraw): IS 7 gafd |

D. TaHIRIGUS N TR HaY: Il a1 |
E. HHABPRS I -Tal: TR 7 45: ISGHT: |

3¢l gy fdepeuy iy I fd -
1.%aaHB.C,D
2. HAUHC, D, E
3. A D.E. A
4. HAUHA.B.D

Options :

686340165561. 1
686340165562. 2
686340165563. 3



686340165564. 4

Question Number : 92 Question Id : 68634041919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A, trﬁ:aamqw IR AaHIR Yald dig Side: g=d Yald |
B. TAHR STHAPRBI D Afe SFYHTE! Hald dal ¢ e: T |
C. aie YUiESgeh! FaHiRl STHBRD U T8 JUIT - W‘Eﬁaﬂﬂﬁﬂ |

D. UETRTd U TEXIIE: HaTgIvI gl & 25edl a1 Wifdd Hafdl afe Afaep bR g 4arsi Hiawfd |
E. T 6. 8. 12 oY HEGerH ATT=S1d die oida: Gig! Hafd |

3¢l ey fdp ey i g o -
1.%deH C, D, E
2. PAAD. E. A
3. PAAHA. C.E
4. %auHB.C.D

Options :

686340165565. 1
686340165566. 2
686340165567. 3
686340165568. 4

Question Number : 92 Question Id : 68634041919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. T SEPRS: YU AgH Hafd dfe oia: Y=aH ¥afd |

B. AGHIR HTHBRBT b5 dlg SIHUG! Hdld der o=+ godk: | |

C. a¢ guisR[eh! FamiRl SABRBU U8 QAN T dei ¢-al Hdd |

D. UgerHId UhIaRIHTE: HaUsTul gl d Toedl a1 WHIfad Hafd dfe Aldeeriu U8 yrei+ Hiawfd |

-

E. TFIC 6. 8. 12 TJ5Y =g erY =i die sid: givgl Yafd |
3¢l ey fdp ey i g o -

1.%deH C.D.E

2. PAAD. E. A

3. PAAHA. C.E

4. %auHB.C.D

Options :

686340165565. 1
686340165566. 2
686340165567. 3
686340165568. 4

Question Number : 92 Question Id : 68634041919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. T SETHRS: LA AaHIR Hafd afg oiae: Y=ar Hafd |
B. TGHIY HTHBRBI P Al SIHIG! Hald da &= gad: 1 |
C. I quia=2Ieh! Faa1Rl SABRGU 98 A4 T dal e-ar 4ad |
D. UgerHTd UHIERIHTG: HagToN gl al 2oedl 91 WHIfad Yafd afe Alae e 98 e Hiawfd |
E. T 6. 8. 12 TRY AR=geiH ANT=Sia afe wiad: gfeg! Hafd |

el gy faspedy wHi=i=g I foa -

1.%HaaH C. D.E
2. HATHD.E. A
3. PAA A, C.E

4. %deH B.C.D

Options :

686340165565. 1
686340165566. 2
686340165567. 3



686340165568. 4

Question Number : 93 Question Id : 68634041920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. Ti¢ IREITT: UY Wil aTe1-Ra1g Jg: Hafd |
B. Afd TRATYHATYAN: Q-1 Ygad: YR |, die 9k HeRul §d: ydld |
C. Tfe, TETTRATYAL: RG-S YgRT: NFT: T qal AL §eg: Hafd |

D. Tf¢ THHAIYGE: W§TE U@ IqUsI- Hga: W df aTe-i HRuf S |
E. SUeayddaR YHIe Fra=SIET 9&t g 1ald |

3¢l ey fdp ey i g o -
1. PACHE. A. B
2. ®da B, C.D
3. PAAHC. D.E
4. AU D, E. A

Options :

686340165569. 1
686340165570. 2
686340165571. 3
686340165572. 4

Question Number : 93 Question Id : 68634041920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, T IqEIiY: Iy WRial ae-XedTg 9o Hald |
B. Afg TATYETYAN: Q-1 Tgda: TR W, die 9k YgRol §d: Yafd |
C. Al TFAYHAIYEN: UG-l Yk Y§T: WIq dal TEIdd gk Hald |
D. i THIYHAIYE!: YY[E Ryl IqUsi= Sya: WId die alg- HRUl S |
E. SuaauddaR UUs Gra=siEd @& oo vald |
3¢l ey fae ey FHIEMA 9T fd -
1. PAUHE.A. B
2. ®da B, C.D
3. ®PdaH C.D.E

4. AU D, E. A

Options :

686340165569. 1
686340165570. 2
686340165571. 3
686340165572. 4

Question Number : 93 Question Id : 68634041920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. T ITeiim: ¥ Wil are--3Rarg 9 Hafd |
B. Ufe TFAIPHATYTN: QAT Hged: YR BT, i 9R WeR0l Jeg: Hald |
C. Tfe FETPHATYAT: A5-H g Hgad: T§R: TN da] TN Jeg: Hafd |
D. ¢ THTHATYE!: YN8 U@ 9q2== Sad: 1 die alg-- H30] S |
E. SUdaanfaaR UUew Was & 9t g vafd |

el gy faspedy wHi=i=g I foa -

1. HAaHE.A. B
2. HAaHB.C.D
3. ®daf C, D, E

4. %A D.E. A

Options :

686340165569. 1
686340165570. 2
686340165571. 3



686340165572. 4

Question Number : 94 Question Id : 68634041921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jegaa i RER = He $od -

T 1 T I

6. 11 faym: | 1 [ugrdsier:
7. 12Toum: | 0 Feregen:
_8. 13 Ty |11 [Raardser:
9. 11 faym: | v [Sogsn:

1%l aRy Frepedny Tl o e -

1. A-I. B-IV. C-III. D-I1

ofofw+
[EEN I e

2. A-IL B-1. C-IV, D-III
3. A-IIL B-1I. C-1. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

686340165573. 1
686340165574. 2
686340165575. 3
686340165576. 4

Question Number : 94 Question Id : 68634041921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAlgaHa g e d B $d -

Tt I LGB
e 11 fovm: | L [HsTETEn:
2 7. 12 TquT: | I [Aagarn:
3. 8, 13 faug: | 1L [Nadresorn:
4.9, 11 foum: | 1v [SOrEqE:

3157 ey Fepedry Tl I e -

1. A-I. B-IV. C-III. D-I1

SRR

2. A-IL B-1. C-IV, D-III
3. A-IIT, B-11., C-1. D-IV
4. A-IV. B-IIL C-II. D-I

Options :



686340165573. 1
686340165574. 2
686340165575. 3
686340165576. 4

Question Number : 94 Question Id : 68634041921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAlgaHa g e d B $d -

Tt I LGB

6. 11 fauT: | L [MgEg®:
7. 12fqug: | 0. [Aardgen:
8. 13 faum: | 1L [Raarisia:
9,11 faug: |1v [Sordg®n:

3157 ey Fepedry Tl I e -

1. A-I. B-IV. C-III. D-I1

REE
e QL | | e

|

. A-IL B-L, C-IV, D-III
3. A-IIT, B-11., C-1. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

686340165573. 1
686340165574. 2
686340165575. 3
686340165576. 4

Question Number : 95 Question Id : 68634041922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JerEaaTyE RER Yfed He 3 -

T 1 T
WWEIT[ drblB A L [HeEms;:
TP E: + AP | 11 S
TEHSH gy -+ Il Nk O B G

o —dltd?IIC’EmIHAI-L IV [RI:

1%l aRy Frepedny Tl o e -

1. A-II. B-I. C-IV. D-III

ofofw]s

2. A-IL B-I1. C-1. D-IV
3. A-IV. B-IIL. C-II. D-I
4. A-1. B-IV, C-III, D-II

Options :

686340165577. 1
686340165578. 2
686340165579. 3
686340165580. 4

Question Number : 95 Question Id : 68634041922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA IEGHIH RER TYford T P -

Tt I T I
HURIH AT + diep ooty L s
[HIHR: + dlep D | 11 [SHTEiEEe
DT - A G

Tafilegs: + dieplicaa [ 1V, |20
3¢l gy faeredy =i 9 o -

1. A-II. B-I. C-IV, D-III

ofofw[»
A
=

| o

AT B-ILL C-I1. D-IV
3. A-IV. B-IIL. C-I1. D-I
4. A-1. B-IV, C-III, D-II

Options :

686340165577. 1
686340165578. 2
686340165579. 3
686340165580. 4



Question Number : 95 Question Id : 68634041922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y g a4 IRER Y He $od -
T I T I
A Ffie i + a1 [sieen;

e + dicplicds: | IL [sfefEEy
IO aE: + didlases: | e
TG Ea: - dreh e | IV, [J:

31ei 7R ey e S e -

1. A-II. B-L. C-IV, D-III

o|o]w

2. A-IL B-11L C-1. D-IV
3. A-IV, B-IIL C-II. D-I
4. A-1. B-IV. C-III. D-II

Options :

686340165577. 1
686340165578. 2
686340165579. 3
686340165580. 4

Question Number : 96 Question Id : 68634041923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -

AT 1 T 1
EREERRIcs PN EEEE
[ &Rfd 2id 1. [ fafe:
grTS Al SO 1L [B
Jigas A IV, [aid

ofofw]-

3l gy [dehedy FHiH g fd -
1. A-IIL, B-II, C-I. D-IV
2. A-TV, B-IIL, C-T1, D-I
3. A-I B-IV. C-III. D-II
4. A-TI, B-I, C-IV, D-III
Options :

686340165581. 1
686340165582. 2



686340165583. 3
686340165584. 4

Question Number : 96 Question Id : 68634041923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA EEI T TR fad Ha- $od -

AT 1 T 1
EREERRIcs PN EEEE
[ &Rfd 2id 1. [ fafe:
TSl SO 1L (B
Jigas A IV, [aid

ofofw]s

3l gy [dehedy FHiH g fd -
1. A-III, B-IL, C-L D-IV
2. A-TV, B-IIL C-I1. D-I
3. A-L B-IV, C-II1. D-TI
4. A-II, B-1, C-1V, D-I1I

Options :

686340165581. 1
686340165582. 2
686340165583. 3
686340165584. 4

Question Number : 96 Question Id : 68634041923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JerEaaTyE RER Yfed He 3 -

At 1 Tt 11
F RGBS CEL
[ &R i I [ fafe:
TSl SO 1L (B
[igeas A 1V [grirerd

1%l aRy Frepedny Tl o e -

1. A-III, B-II. C-I. D-IV

olofw]>

2. A-IV, B-I1L. C-II. D-I

3. A-L. B-IV, C-III. D-II

4. A-IL. B-1. C-IV, D-III



Options :

686340165581. 1
686340165582. 2
686340165583. 3
686340165584. 4

Question Number : 97 Question Id : 68634041924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jegaa i RER = He $od -
a1 T I
A [gugg L [eTauRE: |
B. [a=d I [fee: |
C. |4 1L [HERH: |
D. [RE: IV, [fiaave: |

1%l aRy Frepedny Tl o e -

1. A-IV. B-III. C-II. D-I

| ]

cA-L B-IV, C-III, D-II
3. A-IL B-I, C-IV, D-III
4. A-III, B-II. C-1. D-IV

Options :

686340165585. 1
686340165586. 2
686340165587. 3
686340165588. 4

Question Number : 97 Question Id : 68634041924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JerEaaTyE RER Yfed He 3 -

T 1 T
A [gugg L [eTauRE: |
B. [a== 1. [es: |
C. |4 1L [HERH: |
D. [RI: IV. [f[daRE: |
3¢l oy fasp oy FHi= SR o d -

1. A-IV. B-III. C-II. D-I
2. A-L. B-IV, C-III, D-II
3. A-IL B-I. C-IV, D-III
4. A-III, B-II. C-1. D-IV

Options :

686340165585. 1
686340165586. 2
686340165587. 3
686340165588. 4

Question Number : 97 Question Id : 68634041924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PAlgaH g AR d Ha- $d -

Gl T I

A [gugg L [eTauRE: |

B [F== 1. [Be3: |

C. [ 1L [HERTE: |

D. [TRt: IV, [fiaavE: |
el Y faebedy T IR fod -

1. A-TV. B-III. C-II. D-1
2. A-I. B-IV. C-III. D-II
3. A-IL B-1. C-IV., D-III
4. A-III. B-II. C-I. D-IV

Options :

686340165585. 1

686340165586. 2

686340165587. 3
686340165588. 4



Question Number : 98 Question Id : 68634041925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -
T 1 et o
Agddia | L [Ha

At g a | o s
O v ot |1 Radr |
Eaad [

31ei 7R ey e S e -

1. A-IV. B-IIL. C-II. D-I

o|ofw

2. A-L B-IV, C-III. D-II
3. A-IL. B-I, C-IV, D-III
4. A-III, B-1I. C-1. D-IV

Options :

686340165589. 1
686340165590. 2
686340165591. 3
686340165592. 4

Question Number : 98 Question Id : 68634041925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -
T 1 T 1
Agddarea | [Fad
B. [mdtgd | s
C By i Radi |
D [G.aladl [1v[gen |

3l gy [dehedy FHiH g fd -
1. A-IV, B-IIL, C-II. D-I
2. A-L B-IV, C-II, D-II
3. A-II, B-I, C-IV, D-III
4. A-TIT, B-IL, C-1, D-IV
Options :

686340165589. 1
686340165590. 2



686340165591. 3
686340165592. 4

Question Number : 98 Question Id : 68634041925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -
T 1 T 1
Agddarea | [Fad
B. [mdtgd | s
C By i Radi |
D [G.aladl [1v[gen |

3l gy [dehedy FHiH g fd -

1. A-IV, B-IIL, C-II. D-I
2. A-1, B-IV, C-II1, D-TI
3. A-II, B-I, C-IV, D-III
4. A-TIT, B-IL, C-1, D-IV

Options :

686340165589. 1

686340165590. 2

686340165591. 3
686340165592. 4

Question Number : 99 Question Id : 68634041926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jegaa i RER = He $od -

T 1 T 11
e yrgremauiT| @ ps i |
I Hrgregauio] 1 o g |
&R HIDIegaui | 1L s Hi-d |

. [arsp=a yrgieawii] 1v. 32w |
el ey faeeedy Tl I fadd -

1. A-II. B-I. C-IV. D-III

ol fol ] g

2. A-IL B-I1. C-1. D-IV

3. A-IV. B-IIL. C-II. D-I

4. A-1. B-IV, C-III, D-II



Options :

686340165593. 1
686340165594. 2
686340165595. 3
686340165596. 4

Question Number : 99 Question Id : 68634041926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JerEaaTyE RER Yfed He 3 -

TG T T 11
e yrgremauiT| @ ps i |
I Hrgregauio] 1 o g |
&R HIDIegaui | 1L s Hi-d |
 [erere wrEegEmi| v 2 1 |

1%l aRy Frepedny Tl o e -

1. A-II. B-I. C-IV, D-III

Olo|w|e=

| o

AT B-ILL C-I1. D-IV
3. A-IV. B-IIL. C-II. D-I
4. A-1. B-IV, C-III, D-II

Options :

686340165593. 1
686340165594. 2
686340165595. 3
686340165596. 4

Question Number : 99 Question Id : 68634041926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JerEaaTyE RER Yfed He 3 -

T 1 T 11
e HrEgregauior | L s I |
I Hrgregauio] 1 o g |
&R HIDIegaui | 1L s Hi-d |
_ |erp=n yrgieEaui| v, B2 O |

1%l aRy Frepedny Tl o e -

1. A-II. B-I. C-IV. D-III

ofofw]-

2. A-IL B-I1. C-1. D-IV
3. A-IV. B-IIL. C-II. D-I
4. A-1. B-IV, C-III, D-II

Options :

686340165593. 1
686340165594. 2
686340165595. 3
686340165596. 4

Question Number : 100 Question Id : 68634041927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA IEGHIH RER TYford T P -

AT T
. [ Teid: TE: Bl L ﬂ%aﬁl—g{ |
B & 9l Yady | 11 [§: gFals EgERial Yard |
5: Sl Hag; 111 [dif Irsiqedi Wi U |
[oar: wErafc s | v [afe ama: s A Sl |

1%l aRy Frepedny Tl S e -

1. A-I. B-IV. C-III. D-I1

glo|w|=

2. A-IL B-1. C-IV, D-III
3. A-IIT, B-11., C-1. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

686340165597. 1
686340165598. 2
686340165599. 3
686340165600. 4



Question Number : 100 Question Id : 68634041927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

glgaIigd RER 9fd Oa- $%d -

T T T I
eXi geich: TG g L [ale s |
e Bl YE yadr | 11 [9: OHaIs em=giel Yafd |
=1 TiT: T-Ia'g: 1L ﬂ%muwm |
[Far: g gig | | v [dfe A @ A S |

1% 7R ety e e e -

1. A-I. B-IV. C-III, D-II

ofofw]>

2. A-IL B-1. C-IV, D-III
3. A-IIL, B-II. C-1. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

686340165597. 1
686340165598. 2
686340165599. 3
686340165600. 4

Question Number : 100 Question Id : 68634041927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo i IRER i de $od -
A1 GEiRl
A B Teld: BRe: Wfg] L [dfE als: |
B [fX g Q@i Yad | I [&: OHaISEm=Eal Yald |
C. BT giEr: T-Ia'g: 111 ﬂ%muwm I
D. [gar: 2Rk i g | 1v. [afe #Ha: drard e i |

3l gy [dehedy FHiH g fd -
1. A-I B-IV, C-III, D-II
2. A-II, B-I, C-IV, D-III
3. A-IIL, B-II, C-I, D-IV
4. A-TV, B-III, C-II, D-I
Options :

686340165597. 1
686340165598. 2



686340165599. 3
686340165600. 4



